
                             BA 111  FITTING INSTRUCTIONS 
 
           KIT CONTENTS 
         8 X M8 RIVNUTS 
         8 X M8 BOLTS & WASHERS 
         8 X M10 BOLTS & NUTS 
         16 X M10 WASHERS 
         4 X BRACKETS 
         1 X RIVNUT INSERTION PLATE 
 
               1 
               Locate pre drilled holes in chassis and fit rivnuts( procedure 
               leaflet enclosed) attach brackets pictured right to chassis with 
               M8 bolts and washers supplied. 
 
 
 
 
 
                2 
                Attach side steps to chassis bracket with M10 bolts nuts and 
                washers supplied,Check alignment before fully tightening all 
                fixings securely.                                                            
 
                                  Front                                                                          rear 

 


